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Use the following inﬁ)rmbtion to

. s
answer the next question. ~ (7 e M 17" = 1 ‘&/
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- How many of the given square roots have J are, /Do are.

a value between 11 and 127 o ~
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2. What is the value ofv3.24 to one
decimal place?
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{Record your answer on the answer sheet.)

- fecall that : Cu{f‘lioug the e cimal

‘ ,Jg ‘H?e/ nombeg

Pavm 36 S P

l.ﬁw@fwg Y@g,ﬂ% | &mof 3
33y - Here age an evﬁer\ numéeﬂ Q/ Jeimal
F}au&a ~H\eﬂ P i
rdl L‘——*‘*"& deamal s/ |
e Sine a%x «»22_:'1_ 40D JEae ferfecr SguaRe

% nuwbey ends in '—1 20 the Souake RosT
_ends on I oc ﬁum
Fal / Lp Z *

° @ ML J . _ :‘!T/\-K\S WS,

. Bur (hai(és w?e,* /lf or 1%
I/Lﬁ/lx . ﬁg"};* Now.,, ,;Lu s 2 decdis
—— (_[ §
Yg®+ LT /*9329* 1.2
“ab (18§

52y



3. What is the difference between the values
of the second power of 3 and the third
power of 2? Af

Answer:
(Record your answer as an integer value on the
answer sheet.) T
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4. Whatis the value of ~=3* + 52 + (-12)*?
Answer:

{Record your answer as an integer value on the
answer sheet.) —
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5. Evaluate (150)(152)

Answer: < 2—45

{Record your answer as an integer value on the
answer sheet.) —
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6. What is the value of (%)2? ‘ N G‘T"C@ % \bc—é‘b") ke ?
Express your answer as a decimal to the ,TO m })U ﬁdﬂed’r}') —_— 2: Cbu.m a{
hundredth. P M.
Answer: 0" é m
{Record your answer on the answer sheet) % 2 —fa C’Oﬂ/g‘ef' ‘fZ & ds
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7. Order the following rational numbe » When_opcbring. humkers
Qrier i alloving ol ayters &) DeRrmune vdhethor the order
using the mumbers 1, 2, 3, and 4. is, m Smallesr o

Use the number 1 to represent the smatllest value
and the number 4 to represent the greatest value.

Answer: ] 3 . 3 ‘7'
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9. What is the value of ' : ch@ \/49 Oh% :
2_—;-+—;-_—§-+4x—;—expressedasa é‘m]oes\"fcr@m .9 Pas'[c)cecf o
fraction in simplest form? '_.»’ " /0(46 { ecf
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10. What is the square root of ¥3% +4%7 /gu)ags USQ/ K :
Answer: & Yol
(Record your answer as a whole number on the e = 8 > 3
’~‘ answer sheet.) e e,

Use the foIIowzng mformatzon fo
answer the next question.

Jason’s garage has a square shape.

He measured the total arca to be 6.25 m?. “ Nﬁtfé@ \f—p\af é: 25
11. What is the length of one side of - 25 we Rermove, *”",\QJ O‘e@mﬂ
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12. Evaluate 132, ° 5\16»\&)01'@ Mmeans so\ve,

Answer: 'Q q . /\f(,lméef‘ (S_?Udﬂec{) M_Q:S/‘T en d (")
{Record your answer as ak integer Value on the

answer sheet.)
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13. Solve for x in the following equation. e VS0, LO)'\’CJ')C,\/'aY" n'\e?"f\cd j@() P)QQ fO.Q_,

Tx +3=4x- 18 —
Answer: x = -? e Iv + A = Yk - |18
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14. Whatisthevalueofrindr+2="T7r+11? ,-"'"_“‘
Answer: "é & ‘{r + 2_} = ¥r" + ”
(Record your answer as an integer value on the
answer sheet.) w
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15. Solve for x in the following equation.
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Express your answer as -
(fiearest tenth,) ){ ,&
Answer: x= 5 ' 3

(Record your answer on the answer sheet.)
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16. Solve for x in the equation :5}6- =1.. B '_5‘3”& ) a’ nWM&" dwﬁ%@d <
-18 - Wteelp s 4| NS means
Answer: x = ) D
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answer the next question. U-QQBQ/ e 4 e a?‘; O ns . )

The following number line shows the e
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18. How many whole numbers on the given ; i

solufion set satisfy the inequality? T C.. = E’S ; s

Answer: -g‘ ks —¥ &; gemnci;‘é y !
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19. Whatis th«gum of the coefficients\in the 6 é{:ED Hﬁs {1 VYou pu ST
simplified expression F&Q { (St abu % g{j.j

2xGx + 1)+ 2x(x +2)? f i

Answer: x =

(Record your answer as an @ulue on the ' K ‘S [P M OF QOEFFI CLENTS

answer sheet.)
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Answer: 20
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